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(1) afe emegg A= y 2 -3 |&aafd s e d X,y t @ A HAE gnl
4 t =7
. 5 2 R
If the matrix A= y 2 =3| is symmetric matrix then values of Xx,y,t
4t =7
will be respectively
(a) 4,2,3 (b) 4,2,-3
(c) 4,2.-7 (d) 2.4,-7

(2) afe A3iR B 9w #ife & anmegg € 99 AB‘-BA'®
If A and B are matrices of same order then AB’-BA’is
(a) fawy @ufAa aegs (Skew Symmetric matrix)
(b) z=u sngg (Null matrix)
(c) wafd sregg ( Symmetric matrix)
(d) 1§ anegg (Unit matrix)
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For the matrix A = 2 1 1] Alisgivenby
1 1 1
(a) AZ-2A (b) A% +2A +31
(c) Az-2A-1 (d) A-3I
3 00 0 0 1
(4) a1 A= 0 1 1 3R P= 1 1 0
0 1 1 -1 1 0
=P-1 DP, a9 arregg D avrer §
3 00 0 0 1
Let Asjl0 1 1 and P= 1 1 0
[ U | -1 1 0
If A=P-1DP, then the Matrix D is equal to
1 00 1 0 0 0 0 1 0 0 O
@0 2 0 Mfo 3 0 (e)fo 1 0 o 2 0
0 0 3 0 0 2 0 0 2 0 0 3

(5) wtaeor s qa aftaxer x4-5x3+ 7x2 +3x-7=0 & Tl & Yhd ¢ |
Equation whose roots are reciprocal to roots of equation x*-5x3+ 7x% +3x-7=0 is
(a) 5x4- 7x3+ 3x2 +2x-7 =0 (b) 3x4-7x3 +3x2+7x+7=0
(c) 7x4-3x3-7x2+5%x-1=0 (d) 7x* +3x3 -5x2 +7x+1 =0

(6) wiiarvr Rras qat wfiaxe x3 +2x2-2x+1=0 & w#al & fo 2
Equation whose roots are three times to Roots of equation x3 +2x2 -2x+1=0
(a)3x3 +6x2% -6x+3=0 (b) x3 +6x2 -18x+27=0
(c) 3x3-6x2+6x-3=0 (d) x3 -6x2+18x-27=0

(7) afe iR - Rud g:R - R, f(x) =2x+3 and g(x)=x2 +7 & ufefia wed 2, 09 x &1 9119
forea feef (g(x)) = 25,2



if :R— R and g:R - R are fuctions defined by f(x)=2x+3 and
g(x)=x2+7 then the value of x for which f (g(x)) = 25is

(a) *1 (b) £2

(c) £3 (d) +4

(8) weay A = {1,2,3} W Joudr Haei & fddpan W 8
‘Maximum number of equivalence relations on set A = {1,2,3} are
(a1 (b)2
(3 (d)5

(9) wme (I,%) W&l a*b= a+b+1, &1 aeaws ey frafalied #§ @ @19 @
Which of the following is indentity element of the group (1,*), where a*b=a+b+1
(a)-1 (b)0
()1 (d)-2

(10) 8 ({LW,W2},,) & W & @ g

Order of element W in in the group ({1,W,W?},.) is
(@)1 (b)2
()3 (d)4

(11) G &1 H wamrg SusHg 8, af vd daa afe &l g € G & for
H is Normal, sub group of G if and only if forall g € G
(a) gHg!=H (b) gHg!=G
(c) Hg'=H (d) gH=Hg

(12) afs HeiR K w98 G uRfa Suwwg & o
If H and K are finite subgroups of a group G then

1Ky = 24D — 0(H)o(K)
(a) o(HK) = o (b) o(HK) = TR

‘ _ 0(HNK) _0(K)
(c) o(HK) = T (d) o(HK) = 7S

(13) aft n &1 o7 goris & @ (sin 6 +icos 6 )" &1 A1 &I

If nis any positive integer then value of (sin 6 +icos 6 )" is

(a) cos ( —E—né)) +1isin( g -nf)



n

(b) cos( —2’5 —0)+isin( = - 6)
(c) Cos(r -nB) +isin( m-n )

(d) cos( 923— né) +i sin(nz—"— n o)

(14) fy=fefaa & s a1 (—=1)7° & w9 78 2
Which of the following is not the value of (—1 )/3
(a) -1 (b) 1
()5 +i V3 /2 (d)5 -iv3/2

(15) @fe f(x)=-v25—x2 @@ Lim f(x)-f(1) svrar 2
e B A |
If f(x)=-V25-x2 then Lim f(x)-f(1) isequalto
X— 1 x -1
il 1
(@) = (b)

(c) V24 () 7

(16) afe f(x) =v4+x -2, x #0 g x =0 w ¥aq & 4 f(0) =
x

If f(x)= V4+x —2, x #0,becontinuous at point x =0 ,then f(0) =
X

(a) 5 (b);
() 2 ()3

(17) wftewor - d2y +Pdy +Qy=0 Wl P vd Q ®W€dd =& x& Werl B &1 y=eX |dh Hard sl A
dx? dx



For Equation qZ_y +Pdy+ Qy =0 ,where P and Q are function of independent
dx? dx

variable x, y=c¢* should be complement function, if

(a) 1+P+Q=0 (b) 1-P+Q=0
(c) P+Qx=0 (d) 2+Px+Qx2=0

(18)wfiaver  dy = exV+ x2eV¥ a1 g gnn
dx

Equation_dy = €*?Y +x2? eV has solution

dx
(a) y=ex+x3+¢ (b)Y =ex+y3+c
3 5
(c) ev=ex+x3+c (d) x=eY+x3+C
3 3

( 19) fwifafiaa ieTsl | #Ied wd J11d fQdetd @ TUiET &3 o
Calcutat mean and standard devication form following data.
29,26,13,23,23,25,17.22,17,19.12,26,30.30,18,14,32.26,17,18
(a)20.50, 5.79 (b)20.50, 5.94
(c)20.85, 5.79 (d)20.85, 5.94

(20) 9 w8 |ay Yol 1 & d8d UK BIdl & a9
(@) e/t AR @ Heg IS ey & B 8
(b) a1 a9’ & Wy Hoigd g ey g ©
(c) g8 Bt of3T 2 5 A o & wew Haw R
(d) GHIsHU @l BT gl 1 & ggd U ®

When the correlation coef fcient r is close to one
(a) There is no relationship between two variables.
(b) There is strong linear relationship between the two variables
(c) It impossible to tell if there is a relationship between the two variables
(d) The slope of regression line will be closed to one
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If the resu
the angel between the forces wil

ltant of the forces P and 2P acting at a point makes right angle with P,then

[ be

(a) 600 (b) 1350

(c) 1200 (d) 300

(22) TerReT DR BT A WD &
Intrinsic equation of common catenary is
(a) s=c tan @ (b) p= csec? @

(c)y=csec @ (d) s= csinhx
c

afy # favemue der aHd 3% viau a cos nt + bsinnt A a4 ga T @l

(23) afe fpad wve anad
afam™ g
If inasimple harmonic motion ,relation between time and displacement is X
~ acosnt + bsinnt,then amplitude of the motion will be

(a) na (b) nb

(c)n VaZ + b2 (d) VaZ + b?

x% +y?=4,2=0%

o (0,0,3) wd JAER gd
circle x? + y* =4,

(24) 3 g & FHiepRor RrID!
hose vertex is (0,0,3) and base in the

Equation of the cone,w
z =0

(a)3 (2 +2° )=4(x-3)° (b) 9 (x? +y?)=4(z3)

(c) 9 (x*+z°)=4 (y-3)? ()3 (x> 4k (z-3)?

(25) [c-* a)* (@™*b’) @1 A BT
value of (¢’ *a’)* (@57

(a)(a’'b’ c’) (b)(@"b” ¢’) ¢
(c)(@b c)b’ (@b c’) a’




